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Q.No.1
(1) The Normative Science of human character is - )
(A) Aesthetics =iz () Ethics =% (C) Logic O (o)

g

(2) ___ introduced formal induction in Logic
A)Arisiotle LA (B)J.S. Ml L. Alg (C) JohnLocks L Sfise (D)Bacon &
(3) “The Dictionary of Philosophy” was compiled by - W€ @
(A) Kant LoV (B} A R Lacey Ly Te (C) Bertrand Russell LS 2/« (D) Anistotie &+ .
(4) Logic is 8 Science - Ju'-i-?-&"?"" “@
Natural B) Political {C) Normative (D) Explanatary
A i3 ( b e e i

(C) Term = {=}] aumlm-l .nJ,’ ¢
_.,,_EJ"L n -.'n-ﬂ;-‘-y}j X -r'ol ®

G
onn Hosper <tefle (D) Wikigenstein St :
m

{5) The smallest unit of Language is.-

{A) Proposition (B) Word &
(8} The author of the book “Philosophical Inves

(A} Irving Copl Jsfwl  (B) John Locke Jw(/L:u
(7) The wrong perception is calied - 7. +“r"ﬂ-f'-""~"“
(A) Argument % (B) Predicate ;é?pgm v (D) Proposition ==
% etk 8

{B) The subject mather of the fallacy of argumentum -
{B) Persanality .:-r:'" (C) Emobaqry = (D) Pity %
@, et T @ ~|

(A} Humour [/ >
(9) When a judgement is expressed in words i is called a.-

(A) Proposition - (B) Term = (C) Concept 9/0 (D) Subject Lry '
(10) In proposition “I" the subject is - PR R A

() Negative b (B) Distributed &' (C) Affrmative 2+ (D) Undistributed e
{11) According to the traditional square of oppoesition of propositions Lkt ;?':I'Aﬁ;ﬁb'l: -Eﬁmilﬁlﬁfﬁm (111

the relationship of contrary is in between - |

(A)Aand| £ o 3 (B)AandE LL ol M (C)land O Fr sl (D)EandQ L4 L

(12) According to Quantity, the kinds of Categorical Propositions are - _ﬁrﬂJQﬁJPgM (12)
(B) Universal - Affirmative 2+ = &

{A) Particular - Negative v - =7
{C) Universal - Particular =7 - & (D) Affirmative - Negative - = 427"
(13) The total possible moods of Syllogismare:- (A4 (B 16 (C) 64 (D) 256 B0 (W Gk B

(14) There are terms in Syllogism - Az @®4 ©3 (OFE
(15) “Asiam is honest and Asiam is hardworking” the symbolc P e Fingmiad” us
-

expression of this proposition is-  (AJPva B)F.q () P=gq (MPZ4q
(16) If » premise Is Negative then the conclusion must be - G mfea$A 18
W ATmave =2 (B) Negative () Masringless - (DyUniverssl 7 LS
(17) Gener is a kind of - (A) Deductive Logic (2! #10* :

Sylogism SUF (C) Inductive logic. &
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(x)  Whatis meant by Variables in Logic?
{xij  What is Hypothesis?

(i)  What is meant by Analogy?

(i)

wmmmpﬁnummmaimpmm

NOTE: - Attempt any three questions. 30 = 1@@/3(/ -&Mﬂﬁ-ﬁw -
< « o
g

5 Describe the importance of Logic in detail waﬁ* |

¥
6  Describe informative and Directive use of Language. .ﬁuﬂﬁf&qm . k.
1

7 \Whatis the Faliacy of Appeal to Emation? Describe in detail Euet” e T




2. Attempt any eight parts.
{ii  Define Normative Sciences.
(i)  Define Aesihetics.
(W)  VWhat is the use of Logic in daily ife?
(W)  Who was the suthor of "Argnon™?
(v}  What is Deductive Logic?

o) What is Tautoclogy?
(vi) Whatis the difference between Validity and Truth of Thought?
(vil)
)

Define Conventional Signs. QO/

N

How language brings out man from depression? /&
(x)  Write down any one need of Language. OO
{xi}  How Jhon Hosper defines Ward? ‘@O

(%

(xiiy  How s language helpful in preservation of Civilization? ‘/04
3. Attempt any eight parts. 16=2x8
What is an lllusion?

What is Fallacy? Explain with example.

To create Fallacy is an At Expiain in short
Wirite two poinits on the importance of Fallacies.
What is Paralogism?

What kind of Fallacy is the Appeal to Emotion? Give an example.
Define Categorical Proposition and give an example.
(viii) What is Copuia? Explain with example.
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